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CERTIFICATE IN TELECENTRE/VILLAGE 
KNOWLEDGE CENTRE MANAGEMENT 

(CTVM) 

Term-End Examination 

December, 2012 

OXE-021 : TELECENTRE AND COMMUNITY 
INFORMATICS 

OXE-022 : PLANNING AND MANAGEMENT OF 
TELECENTRE 

Time : 3 hours 	 Maximum Marks : 100 

Note : 	(i) 	Attempt all sections A, B and C as per the 

directions given in each section. 

(ii) Marks are indicated against each section. 

(iii) Answers should be brief and to the point. 

SECTION-A 

(CHOOSE THE BEST ANSWER) 

(i) Answer all questions. 

(ii) Each question carries 2 marks. 

1. 	How are telecentres called in Srilanka ? 

(a) Telecentros 

(b) IT Clubs 

(c) Community e-Centres 

(d) Nenasalas 

10x2=20 
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2. Where was the first telecentre setup in India ? 

(a) Maharashtra (b) Karnataka 

(c) Bihar 	(d) Puducherry 

3. Which Indian company is setting-up telecentres 

under the corporate sourcing model ? 

(a) Godrej 
	

(b) ITC 

(c) Reliance 
	(d) Dabur 

4. What is the starting point of any community ? 

(a) Family 	(b) Friends 

(c) Community (d) Individual 

5. Consider the following statement and say its true 

or false : 

A social entrepreneur recognises a social problem 

and uses entrepreneur principles to organise, 

create and manage a business to bring about social 

change. 

(a) True 	(b) False 

(c) 	Can't say 

6. Is it necessary to check that the road, electricity, 

water and telephone lines are available at your 

telecentre ? 

(a) Yes 	(b) No (c) Don't know 
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7. 	How would you furnish your telecentre ? 

(a) Light weight furniture 

(b) Heavy furniture 

(c) Many furniture 

(d) No furniture 

	

8. 	Which among the following is not a technology 

to connect to the Internet ? 

(a) Wi-Fi 
	

(b) VSAT 

(c) Vodaf one 
	(d) Broadband 

	

9. 	Which among the following is not a capital 

expense ? 

(a) Equipment (b) Furniture 

(c) 	Salaries 	(d) Security deposits 

10. Which among the following is not a quality of a 

telecentre manager/operator ? 

(a) Honesty 

(b) Reliable 

(c) Irregular 

(d) Sincere and Hardworking 
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SECTION - B 

(SHORT ANSWER) 

(i) Attempt any five questions choosing at least 

two questions from Part-I and II. 	5x6=30  

(ii) Each question carries 6 marks 

PART - I 

11. Define a telecentre in your own words. 

12. List five different types of telecentres. 

13. Define a social entrepreneur in your own words. 

14. What is a community assets register ? 

PART - II 

15. Define planning and its importance in telecentre. 

16. Describe Internet in your own words. 

17. List five steps for better time management. 

18. What are the five skills needed to successfully run 

a telecentre ? 
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SECTION - C 

Answer two questions. Each question carries 
25 marks. 	 2x25=50 

19. (a) What are the five different types of 
telecentres and explain them with an 
example ? 

OR 

(b) Explain eight steps involved in the process 
of Community Resource Mapping (CRM) ? 

20. (a) How will you effectively manage the space 
of your telecentre and explain it with the 
help of a diagram ? 

OR 

(b) Define telecentre networking and explain 
the various advantages of telecentre 
networking. 

OXE-021 & 022 	5 	 P.T.O. 



311% 	1. - 0 21 & 022 

Tff. 	v4trfft 541-11U14:4 

	TRIATT 

qt-1144t, 2012 

311.72F14.-021 : 	 tqivrtien TEw9i faFiff 
: 	 e41 11t 7-4 Tr4trff 

t 'Mg : 3 E/2" 	 afw-  : 100 

zgath-  7T 372117 (171 5.7777? f7g71 f t 1 

TRq dtH Tn&jiT 5.177 Fig7W/VIR 

(ii) 3r4W 91777 #3iFfY *.37.T qTf7.  7T e / 

377qw 	Tiorr Ty Tqt ,67 	 37'8e7 g)-// 

sIPT-T 

( *53 ZWT WER ) 

c

cliqR I 

3r- fW 	 t 2 31* t I 

	

1.51-1---*-r 2.o1(.4e. 14)q   ? 

(a) 	 (b) 	ctOcsi 

(c) .T91-9-t 4dt (d) 	 

(i)  

(ii)  

10x2=20 

OXE-021 & 022 	 7 	 P.T.O. 



2. 1.TR-d.14 	 ch't W9-91 	ch') 	 ? 

(a) "ITM17 	 (b) 

(c) fq717 	 (d) zf 

3. •4-9- X11147-61-zr 	Vrrra-a- 	vf--d-Fq (wrtfta Trl-Mtr 

His 	o) 3-tdit 	 -Rucr9-1 	? 

(a) 	I 
	

(b) 	3111 t 

(c) Rcilq“ 
	

(d) T-4T 

4. chi 7rtf4ffq's -4r-iTri 	dr t ? 

(a) IcirTdR 	 (b) #17 

(c) 	 (d) 

5. 2.19' 	fd9TT 'WT• 	cic1 	fch  	t 

TIT 410cf : 

'114-11F3-Ich Trit f*--t=11.  .W4-11F3-101-) Trinzri 

fg -4 3174 cq 	I q 

m1l3-T1T 	ic49.  14' 	4-R 	11 d 

(entrepreneur) #1-5-d)' ch I WFT 'Wt 7T t I 

(a)  

(b) Icid 

(c) TO -16 -t1 7T 

OXE-021 & 022 	 8 



	

6. 	a-e41 	Air4 	31-1-9-471 	roh 31-T9-k 	dt 

791-  AT 	c-11471.-1 m1 nib 3-9-0-aT t? 

(a) Tit 	(b) Irid 	 (c) 

	

7. 31-c1 	31-FT 1TATIF- "ff t? 

(a) r 1TTT qrFT Th-91-4T 

(b) ITT-4 th-9-Th7 

(c) "Ft-4T 

(d) th-9M7 cf 

	

8. 	ri4---iro 	od 4 Tft 	tr 	a.;1 clar-114, 	 

t? 

(a) 	clli-411 	 (b) 

(c) a)si4)-1-f 	(d) t"--BU 

	

9. 	FiHrorod if 	.11-1. Trr - 	(A -4 

(a) 3401101 	 (b) TF9N-T 

(c) 	d 	c11 	 (d) TUT TIT-df4 

	

10. 	Pi 4--trorocr 	-4 cr) Tft 	c,-1,z. 514.4T/ afigt-  (4,1 

	

-WITT 	t ? 

(a) i4-111wa 	(b) Nkokil1qc11 

(c) afr9Tifzia7T 	 (d) 1,1T  

OXE-021 & 022 	9 	 P.T.O. 



VITT=U 

	

(1t1 d'ft( 	) 	 5x6=30 

(i) I 	ITT-II 1,44 1,11 	wa 

-5179)t 	q'lr\TR I 

(ii) .97,1 t 6 atcF *I 

11. 4 LIR...4*m crilf- 7 

12. rq 	*1-  

13. \Act-) -.EFTfi ml arcit 	II 	Forrfura 

14. ffla-qTzT 7ftTt9n.  

1411T-II 

15. f971-1-q9.  ( 

	

	 tft9-Ttr-Ef-d"Wri-47 	---47-1Z-i 

c41-1 -R-4 17 I 

16. arcrk -.Tqf - 1" 	I 

17. *-d-{ -M=171 	-k LIT-A -q-Tuff chi TO- 

18. -‘. tel-14-d--{ oh) W-hcidl ,tcieb -ci el I 	['du, 4,1 	14N -47TO.  

aTT 	? 711-i 1f* I 

OXE-021 & 022 	10 



14M-IT 
2x25=50 

"7"7)517ti 37It q'lr-11 I 	iT 	25 alt t I 

19. (a) 	2.(-114.4 	41-cf fq-fim w4-R -0-1- 	t? 

cni 	 

amar 

	

(b) 	 4-1 -5irwTT 

-111-1-Ircici 31-ra 	-t-cr4 chi 

20. (a) 	37:1-42.r11t1zt Tztri (*TO 	;14q-9.  

3Trcr Vt4 	 _q11=c.N.  4-1 	-F=Pg 

7I 

3T4V1* 

	

(b) 	 dc:f 4 1 oh 4 t9TrfEm 

tzar 	I 	fq-faq (-off 

OXE-021 & 022 	 11 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10

